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 REVISION OF EXTRACTED QUESTIONS FROM ;
PRIMARY LEAVING EXAMINATION 2607 ,

MATHENATICS

Duration: 2 hours -

SECTION A (65 MARKS)

|| Simplify completely GX 2 ) + -;- (2 marks)

= :
Calculate 2 of 900g and give your answer i
| kg (2 marks)

| Express 858 as a product of it’s prime factors.
(2 marks)

Solve: 3m +4=5m-2 (2 marks)

Write 1960 in Roman numerals (2 marks)

Find the Lowest Common Multiple of 21, 45~
and 50. (2 marks)
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7 | Calculaté the volume of acube whose total -~ | 8 | Remove the brackets and blmphfy (2 marks)
‘surface area is 150cm?. (2 marks) 52y +x)+2(x - 4y)
g Fmd the value of angle marked x{Z ’narks) 10 || Complete the table below (_mafié;,m)-— R
i 2 8 12
5 17 65 —
11 | The sum of three consecutive odd numbersis || 12 .
57. Find those three numbers (2 marks)
13 | What number when increased by 15% 14 ” Complete lhour 3niinutes 2seconds =
becomes 3450? (2 marks) i __seconds (2 rmarks)
15 | A book costing 2400frw is sold at 2640w, 16 | Show that 70470 is e‘xactly divisibleby9

Calculate it's percentage profit (2 marks)

without using long “iwision. (2 marks)
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Jv‘mf in the

120°. How many sides does the p« ryon
have? (2 marks)

Lt L‘ ‘t S o
density is 1.26kg/m?, Find the raass of the
substance (2 marks)

17 || Find the value oi m* + 2ab —n if m=2, b= "1, | 18 l[ Share 28 000fw botween John and |
a=3andn="4. (2 marks) ‘  ratio of 2:3 respectively. (2 marks)
19 | One interior angle of a reqgular polvgon is 20 | The volume of a substance is 60 ¢

| 7em and height is 16cm. (2 marks)

21 || The speed of a moving car is 60km/hr. The | 22 | A chapter in a Mathematics text book | is
car maintains this speed for 1hour 20 printed from page 141 10 212. How many
minutes. What is the distance travelled by the pages is this chapter printed on? (2 marks)
"car? (2 marks)

23 | Calculate the area of a triangle whose base is | 24 | 5 men take 4 da\;Tc; f)';nT‘a‘h‘aﬁ‘ Hov\;‘}n—a{n—y

clays will 8 men take to paint the saiiie house?
(Assuruing all men work at the same rate)
(2 marks)
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25

Write the next two numbers in the sequence
below: (2 marks)

2,4,12,48,

A car travels 35km on 2.5 litres of petrol. How
much does it cost to travel 280km if the cost of
1 litre of petrol is 600frw? (3 marks)

21

How many revolutions does a kicycle wheel
of 70cm diameter make to cover a distance of

8.8km? (7 = 22)(3 marks)

Calculate the area of the figﬁiérl;;i;;f 63 T
marks)

T

Sm $m tm

5m 3m

29

The cost of 3kg of potatoes and 4kg of beans
is 840frw. The cost of 1kg of beans is 70frw
more than the cost of 1kg of potatoes. Find

|l the cost of 1kg of beans. (3 marks)

The simple interest on a capital of 800 000fxw
after 3 months is 12 000frw. Find the interest
rate per year. (3 marks)
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SECTION B (Choose any 5 questions-35 marks) L

The diagonals of a rhombus are 10cm and 24cm.

31
(a). Calculate the area of the rhombus. (3 marks) -
(b). Calculate the perimeter of the rhombus. (4 marks)
32 A 1 x (62— 475) x (3.875 - 2%)
Simplify completely: ——* & (7 mark
plity completely (15 x 15) +2; (7 marks)
33 David sold cars with a total value of 90 000 000frv for the importer. He reczived a 10% commission

on the first 50 000 000frw and 3% on the rest. How much money does the importer receive ifhe
| pays a tax of 5%?
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34

(a). Sol\;é:

2X=-4 . 6Xx+ 2
2%

=0ifxis notvevc'pial to 0.

(b). The product of a number with fcrir is equal to the sum of that number with 6. Find that number.

35

| T4 yearsold
85

11 years old

(i). 12 years old?

(iv). 15 years old?

13 years cld

| 450:,

°

The pie chart below shows different ages of pupils in a certain primary school.

12 years old

. g
55
15 yeorsold

40°

16 yeurs oid

(b). How many pupils are;

(ii). 13 years cid?

(v). 16 years old?

(a). If 10 students have 11 years each, how mény
pupils are represented ir. the pie chart?

(iii). 14 vears old?
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36 || In the figure below, find the measure of unknown angles:marked with letters. ('.?'marks)

40°
SN A
e A

N\

\\.
Jant: o\

37 | The graph below shows a journey of a person who visited a friend in another v{ﬁ’aéé.‘
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TIME IN HOURS
(a). How far did the person travel after 15 minutes?

(). At what time did the pexso:d turn back towards his home?
(c). What distance does the person travel towards his home after turning hack?
(d). How far was the person from his home 1 hour after starting the journey?

-(e). Find the average speed for the whole jbumey




